Here, we will find all of the mesh currents in the circuit.
Call them I1, I2, and I3 in the clockwise direction.

Notice that we have a current source that controls I2’s mesh current.

The current in the whole top branch is 12 A. We have defined I2 to move through that branch in the opposite direction. This means that I2 must be -12 A.

This means that we need one less mesh equation than we would need.

This is similar to having a grounded voltage source in nodal analysis.

Write a Kirchhoff’s voltage law (KVL) equation for Mesh 1.

We see the 50 V source’s negative sign first, so we negate its value.

The voltage across the 4Ω resistor is 4*(I1-I2) since I2 travels in the opposite direction of our path.

We see the 30 V source’s - sign first, so we negate its value.

Set the equation equal to zero.

We have already said that I2 is -12.

Write the KVL equation for Mesh 3.

We see the 30 V source’s positive sign first, so its value remains 30V.

The voltage across the 4Ω resistor is 4*(I3-I2) because I3 enters the + side and I2 enters the – side.

The final resistor’s voltage is 8*I3.

Now substitute I2 into Equations (1) and (3).
So we have two equations and two unknowns.

Notice, however, that each equation only has one unknown.

This means that we can solve for I1 and I3 directly.

Collect I1 and I3 terms in each equation, and solve for them.

We find that I1 = 8 A, I2 = -12 A, and I3 = -6.5 A.
